EEC180A DIGITAL SYSTEMS | Winter, 2006.
Solutions for Homework # 9
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From Q" maps:
AT=XBC+XABC B*=X+C+B C'=BC+X Z=XA
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Test sequences:

a) X= 0011 10100 010
Z= 000000010100001001101101
b) X= 1100 D1 0
Z=000100010100001010000101
X 10ns 10 20 30 40 50 60 70 80 90 100 110
(20 us/div) v B b bbb b b b b s b Ly
CLK 1 S [ Sy SO ey S e N ey S e Y e Y e i e Bl e B e T
X i I I E S " R m S
A 0 A I R AU Ea N | I
B 0 ]
C o L I L 1 | L [ 1 1
£ 0

M R SRS D SR b




16.2

X=0 1 |X=0 1
S |18 sf|o o
s, |s, s;|o o
s, 1S s|o o
s,1s, s|o o
s, | s, S| o 1
S, 1S, S| o 1

Guidelines and state assignments are the same as for16.1

Flip-flop and output equations and logic circuit are the same
as 16.1, except interchange X and X' throughout

Test sequences  a) X= 1100101 11101101101
Z=000000010100001001101101

b) X= 001100110101011010101101
Z=000100010100001010000101
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16.16 (a) Same as Figure 16-10 with ROM replaced by PLA.
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